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(1) T IR 100 3Fad v ama. Shgar s I fofrers graw s A Ay e
w¥ A fHar T arh @l F6 el 7@ 9 FE g AR €@ TR AHaaRReT e

Al aheg-Fwis
(2 mwﬁmm‘wa’faﬁm 7
AdT : -
7 R forgman f - e

(3) I BEAHT TG HHiH g Ineha fafire sft Stfiater gersmm 3 e g @
(4) () T TEYfRRdT TA® T 4 GE IR gRide S = 1, 2, 3 A 4 I FHih oA IR,
1 9R IA0AH Tafa Tra I HHIR ITRUEhRAE GEATAT qRAT ITRAHSAT TG FEl.
YR SRR ITCHHIS TG TAFT dt eiUd THREhIEER SHifhG e quifaen JRe ATt
Fisoll AR, PTRAT Fa T AR ST I, WfRE a1 wndR 99 gew .
(@) e S frrarard wt wEr sush areay fafie dee sy, = rgaren yee wew Wt
qyidt TYATIR ATZA T,

(5) T WAFT §WH U ATEA. TR WA NV IR A, 9EER g9 SR A Al gEaT HIAe e
e TRy deaEd. PR W RS0 AEEE TR WO TWTET IR HEUT AEedE TE A% 7
i gEier v a@Td. I YR Reeen WANdd fRRerHd 9@ fiees tftemw w8 v
TSR] Teihe a0l TSRt 3.
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Idfre’.
ardig

o TratraTdt s Rifte et g wewdy @ nmgeie st wrem o  wharesm SEEren
AR ATRea v A AR @ 4% wiwda e wvgReet v /v, R we wagfRnede s s
WIVATE TTEUTA WEGsH W1 ANCALTTR WIVEATE swa e Gy, qier Whrg wor ¥ 11 g Aeh wet wonsan
TEAER TAAH 1 Ferea whuiaea gor= homren siEa s sfifaa-82” e

e yafem Hree TR SRaTE FETE A T 36 sredt SR uE autean wrrararea i/ e sa
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1. afor 3 209 s STuEm FALEN B9, T R YR e
VYR TN HE Hovdl SIS I Teuas THET guuR § Faaswfie SwmEe!
T BUEH! ¥ .

(1) THRW I39 M FORE HAH
(2) =g TSR FER FT T T JAEE
(3) TGS g ST FRRE HIH
(4) grn wu f anfhr safrre wrae g
and were two Building Contractors in Mumbai who realised the
importance of modern print media in the spread of ideas and donated a printing
press to the Satyashodhak Samaj so that the Samaj could pubhsh their books and
journals.
(1) Tukaram Padval and Krishnarao Bhalekar
(2) Vyanku Baloji Kalewar and Ramayya Vyankayya Ayyawaru
(8) Ganpatrao Patil and Krishnarao Bhalekar
(4) Jaaya Karadi Lingu and Jaysingrao Saibu Vadnala

2. ww@mﬁmwmwﬁmﬁﬁmmﬁﬂﬁ
(1) g aE | (2) T S T
(3) fomaes grieT WrewE (4) vETST Fon i
—__got the prestigious Shivaji scholarship to go to England for studying law.
(1) Khudiram Bose (2) Gopal Krishna Gokhale
(3} Vinayak Damodar Savarkar (4) Shyamji Krishna Varma
3. . aTHuHl AgT S SRadisl wiea HIAIHAHER Tigel U
¥, HleH HiT Feawe 9. len 9@ v
F.  AgE e 3. yuim 9293
it I

1) ¢,9,%,3 (2) 9,%, 3,8 3 A,%,49,3 4) %, %,3, N
Arrange these movements led by Dr. Ambedkar in their chronological order.

a. Kalaram Mandir Satyagraha b. Chowdar Tank Satyagraha
c.  Burning the text of Manusmriti d. Movement of religious conversion
Answer options :
(1) ab,cd (2) b,c,a,d (3) a,c,b,d 4) h,c,d,a

4, g fEmEm aft awn addd e St T oty ySeEEh ==t sEE amen
dgnrel TRTYE <t gon el wegumon sesadih Fel o
(1) Yo T9% (2) T BT
(3) VNN d@dE (4) Infeandt=h a=ae
Noted philosopher and public intellectual Tarkateerth Laxmanshastri Joshi, in his
article discussing the Indian Renaissance, compared the in Maharashtra
with the Protestant Reformation in Europe.
(1) Bhakti Movement (2) National Movement
(3) Non-Brahmin Movement (4) Tribal Movement

FETT BITHIS! AT / SPACE FOR ROUGH WORK P.T.O.
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5. wER feoads AR dewE 0w 2
(1) R Famh @rge ‘
(2) THTH. W
(3) e 3mqd M
(4) PEshR
The founder of Kamgar Hitvardhak Sabha is
(1) Narayan Meghaji Lokhande
(2) S.N. Bhalerao
(3) Shripad Amrit Dange
(4) Bhivaji Nare
6.  TEIAAh VT TR SUA GRS w4l A Fegdt ?
(1) r=wag (2) Teud
(3 faog dm (4) Fda =
Which of the following plays was not prescribed by the British government ?
(1) Keechakvadh {2) Dandagdhari
(3) Vijay Toran (4) Tritiya Ratna
7. A TIGETAS G SIS G 99 GaHOE (ET et gl HrE@

g FEAE A gaadl SOOI S U g 1924 TEY 39, TG |l 99 g
F4 U T .

(1) & HEe (2) TwE feam

(3) UHHTS YYH (4) .. g

was sentenced to two years of rigorous imprisonment for publishing a
seditious book. The British government in 1924, offered to set him free, provided he
was to accept certain conditions, however he refused such a conditional release.

(1) Hasrat Mohani (2) Rangrao Diwakar
{3) Rambhau Pradhan 4y B.G.BHorniman

ZreEqT BTTATAT ST / SPACE FOR ROUGH WORK
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HETe B AeATSTEd Y] FoR faum s o ?
(1) i STemen Tieus T8 w9 .
(2) it STt feaar & g fafea.
(3) @ A faga areasR i vea e
(4) < Gewgs U T Al

Which of the following statements about Mahatma Phule is not true ?

(1) He started a shelter for prevention of infanticide. !
(2) He authored the book ‘Jati Bhed Vivek Saar’.

(3) He was supported in his work by Moro Vitthal Walvekar.

(4) He founded Satyashodhak Samaj.

f S—

9. Hu§ yien HEHEsH i e awie won e 9 e, Wy 3 hegagd

T HOTR 307 ot RogT= STaTagr FIo 2 T T al Tt e
&1 Feft. |
(1) 4. 90a (2) AW FvE S

@) Fmuere deeErs @ . FH

The Bombay Provincial Legislative Council passed an act concerning compulsory
- primary education but did not define any deadline nor specified the responsibility of

education and hence invited strong criticism from __

(1) R.P. Paranjpe (2) Sitaram Keshav Bole

(3) Chimanlal Setalvad (4) B.R. Ambedkar

10. 3 WIHR AW R temd wamed fawftr mm‘émﬁawﬁmm

g sremwaaTe Beew gt el B
(1) T%Y.4. dogmad (2 frsht dim
@) s fafasnm . (4) BRI TE

A three-member commission appointed to make recommendations regarding the
financial relations between the princely states and the British government in India

was headed by _
(1) W.S. Holdsworth . (2) Sidney Peel
(3) Rushbrook Williams (4) Harcourt Butler

TN HHHIS! S / SPACE FOR ROUGH WORK P.T.O.



L13 6 A
11, wfam @ nga ofide orery wev . WarERe Sridse A fag 71 feai
HUAT ATAT.
(1) 20 AT 1947 (2) 29 HIL 1947
(3) 14 7rede 1947 (4) 249 1947
Dr. Babasaheb Ambedkar was chosen as the Chairman of Drafting Committee of the
Constituent Assembly on
(1) 20th August 1947 (2) 29th August 1947
(3) 14th November 1947 (4) 24th September 1947
12. foumeam syl $& amea
N, TaumwS=E 43FR Ay TR .
9.  TwHNrEN FEmmEn o aaw g | swaesTat
%. Rl fafay aficren srewi JuoE S0
qgid I ;
(1) S A, § (2) S 3, %
(3) wHE, & (4) aharh o
Functions of the Speaker of Legislative Assembly are
a. To preside over the meetings of the Legislative Assembly.
b.  To interpret rules of business and enforce them.
c. To appoint the chairman of different committees of the House.
Answer options :
(1) Onlya,b (2) Onlya,c
(3) Onlyb,e (4) All of the above
13. 123 AR AW geed fad 2017 Fumh defag o ?

(1) TAwed AigelT e

(2) wndr wfaumTen wEEn Qi geed

(3) Tt anTEeRiTa SyrETen Fauiiie gt <o

(4) T gfaymrsa 8 =m ThfiErdE ‘offer’ 1 wien di9d 9gd wed A ‘fEEr o8
F

The 1234 Constitution Amendment Bill 2017 is dealing with

(1) Women reservations in Parliament

(2) Amendment to 6th Schedule of Constitution of India

(3) Granting National Commission on Backward Classes (NCBC) constitutional
status

(4) Substituting the name of the language which appeared as ‘Oriya’ in the
8th Schedule of the Constitution of India with ‘Odia’

ZFeeg] HRTATA! AT / SPACE FOR ROUGH WORK
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14, SRarew Sai= A Tat geare e/ e fammye
7. Wy SRuEE et e A s el § R see SeEd R,
%. UATE EeE SR oargdt 1937 @ 1950 W Few ®IE A6 e @ @ 9l
FA@ B,
T RATEAl WS ETeTe SHH b ol A1 & wEe 9.
Rt I _
(1 A9 (2) w3 3) %3 (4) wO A
Find the incorrect statement/s about Supreme Court of India (SCI).
a. SCI functioned from the Parliamentary House till it moved to the present
building.
b. The Constitution of India has left it to the Parliament to increase the number
of judges of SCI.
c. Prior to SCI, from 1937 to 1950 the Federal Court of India was in place of it.
d. The proceedings of the Supreme Court of India are conducted in English and
Hindi only.
Answer options : _
(1) a,b (2) Onlyd 3) ¢d (4) Onlya
15, Tsoged=a WeaEs S1ed Gieltetsh Five faum s 3753 7

(1) @ 9. FEEET YT T GaN Hodl 9 uigeedl e FTEET i ATR.

(2) 1995 Hefier et St famn e Teeara AT 81 Tsaee-s TWhifcies YA A1 38
At e Yeued S,

(3) 1975 A1 42 N TEATEHE HIAFEY Tedied — waamﬁﬂﬁﬁﬁaaqmm?ﬂqqaﬁq
WSS A HOA HTeH 1R,

(4) TGTEAT & FECHSHT MUHRE Tad Tl 3 a1 ARSI gy g T

Which one of the following statements about the Preamble’ of the Constitution is
not correct ?

(1) It is based on the ‘Objective Resolution’ drafted and moved by Pandit
Jawaharlal Nehru,

(2) In the LIC of India case (1995), the Supreme Court held that the ‘Preamble’ is
an integral part of the Constitution.

(3) The 42°d Amendment Act of 1975 added three new words — Socialist, Secular
and Unity to the Preamble.

(4) It is neither a source of power to leglslature nor a prohibition upon the powers
of legislature.

] PTG SR / SPACE FOR ROUGH WORK P.T.O.
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16. YNGHN GHUSHE dyH] Foiedl JUHTETET SSST aE

A FH. FHAew
T, el s
®,  uiE -
3. e S
agigt I ¢

£} q &
1) I 11 11T
(2) III 11 I
3 Iv III II
(4) I II v

Match the pairs regarding comments of experts about the Indian Federation :

a.

b.

C.

d.

K.C. Wheare
Granville Austin
Morris-Jones

Ivor Jennings

Answer options:

03]
(2)
(3)
(4)

a b c
I I1 III
111 I |
v III I1

III II v

L

-1

III.

<

-2 2 &

—

Bargaining federation
Co-operative federation
Quasi-federal

Federation with a strong centralising tendency

T FTHTHTE! AT / SPACE FOR ROUGH WORK
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17. Sifaa onfn saRe T @ (Se9e-21) T EmWe 91 SHEY A
. G R ;
9. TSP HUATHT €
%, ShaTaves sdheTi S e
s SEE
3. Uhiqamrs afaeger v
a3 .
1 ##,9 2 9,%,% (3 A/,9,8 @ #%,3,%
The scope of Right to life and personal liberty (Article 21) includes :
a. Right to strike '
b.  Right to go abroad
¢.  Prisoners right to have necessities of life
d. Right to bonus
e. Right against solitary confinement
Answer options :
(1) ab (2) b, c, e (3) a,b,d 4) e d,e
18, Wrefiauehl Hivra fum gEbie g ? ( (wrgre Gewta)

(1) Tum fesn Jroww o9 Yan 9 TEE % 959 ﬂ&ﬁﬂﬁ?ﬁﬂ(ﬂﬁﬁ‘iﬂﬁ
TEE THHEERE HUE ard.

(2) Tam oited=an TeaE Ui da IR T e 9ot TuEd T afie amieRa
HE AFTATa. |

(3) fam uiwd=ar st 9" dw WA T f0F GeE GEWS IR widE
i FoaEE AmiERe =R areE.

(4) ol el AT

Which one of the following statements is false ? (With reference to Maharashtra)

(1) The Chairman of the Legislative Council has to nominate not more than five
members to represent on the ‘Estimate Committee’, :

(2) The Chairman of the Legislative Council has to nominate not more than five
members on the committee on ‘Panchayati Raj’. .

(3) The Chairman of the Legislative Council has to nominate not more than five
members to represent on the committee on ‘Public Undertakings’.

(4) None of the above |

FOET TS AR / SPACE FOR ROUGH WORK P.T:O.
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19. :gwmuﬁwaﬁa 51A Tl Grfiatdl T LA HASET GUEY S A
?

A, AT BHH FEpAeAT HYG GRS WA JVE @ 96 e,

9. fasmfis gfeem, e snfr s 9 guromarg e faee w,

F. T 5N AEEE] SHeA Wiy el T, TS anfr weq T T,

T AeE R T AAE JURE et SAueht 5 v da e S A0,

it I

(1) &, vanfrs

2) s, ®wfors

(3) @& T E

(4) S«

Which of the following is/are nof included us Fundamental Duties in Article 51A of

the Constitution of India ?

To value and preserve the rich heritage of the country’s composite culture.

To develop the scientific temper, humanism and the spirit of inquiry and
reform.

c¢. To protect monuments, places and objects of artistic or historic significance
which are declared to be of national importance.

d. To prohibit the consumption of intoxicating drinks and drugs which are
injurious to health.

Answer options:
(1) a,bandc

(2) b,candd

(3) candd

(4) Onlyb

20, mmmmmﬁﬁw%wmm
qus IgrarEtt AR 7
(1) 47 (2) 48 (3) 49 (4) 50
Which one of the following Articles of the Directive Principles of State Policy deals
with the separation of judiciary from executive ?
(1) 47 (2) 48 (3) 49 (4) 50

AT FTHIWTEE O / SPACE FOR ROUGH WORK
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21, el IET - (VIF WENIY ST gad)

‘o (F9va) ‘@ (queE | qITw)

H,  vEE I feq wifea
9. Fag II. %vd 3
#.  W9W 111 maéaaﬁaﬁ

3. Uy WEME URE V. WoRRK 30
it I ;
A T ®F 2
(1) III v I II
2 II II1 Iy 1
@3 II v I 1
4 IV 11 I II1

Match the pairs — (Newspapers in Samyukta Maharashtra Movement)

‘A’ (Newspaper)
a, Prabodhan L
b.. Navyug II.
c.  Prabhat III.

d. Samyukta Maharashtra Patrika IV.
Answer options :
a b c d
(1 I v 1 II
2) 1II III v I
@ IIT I
4) IV II I 11

‘B’ (Editor | Owner)
Dinu Randive
Keshav Thakre
Walchand Kothari |

Pralhad Atre

L13
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22.  HAWHH WA= gevla, Wefier T Fraqd ot ;

& (FeH)
A HAW 153 I.
& TomW 178 I,
#, wem 171 1L
3. wem 165 Iv.
wrefie faeten Gahamy A
Tatdft T

H =" ®
(1 m I v
@ Iv I I
@ Im I v
4 1 v I

T ()
feramaven seay 9 susy
T TRt
[Tl T=AYT a0
Tum ufeg =0 @

o e

4
1
I
Im

Match the following pairs correctly regarding Constitutional provisions :

b.
c.

d.

‘A’ (Articles)
Article 153

Article 178
Article 171
Article 165

‘B’ (Provisions)
The Speaker and Deputy Speaker of the
Legislative Assembly

II. Advocate-General for the State
III. There shall be a Governor for each State
IV. Composition of the Legislative Council

Choose the correct answer from the codes given below :

Answer options :

oY)
(2)
(3
(4)

11

III
I

b
I
11
1I
v

c
IV
I
IV
11

d
II
IL
I
I
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29. AN YA NSl

3. ﬁmaﬁﬁmmm.ﬁsﬁﬁwmaﬁaﬁgﬁﬁ 6 Tgar, 1956 T

4. AR T, Seee wRe Fetee onf fég meraw 3 W mewy wiirdmed efiw wid
.

watdft 3at |

(1) wHA o 2 wW |

(3) 27 anfor & g (4) = anfor § S A

Select the correct statement.

a. Samyukta Maharashtra Samiti was established under the chairmanship of
S.M. Joshi in Pune on 6 February, 1956.

b. . Bhartiya Jansangh, Schedule Caste Federation and Hindu Mahasabha were
involved in Samyukta Maharashtra Samiti.

Answer options:
(1) Onlya ; (2) Onlyb
(3) Bothaandb {4) Neitheranorb

24, Gl B faum gEe o ? ,
A WA — FEGA FREE AUF THONG GEvd FFHE IgEH St g e TE.
q. oAy - East ywErer e adEn wivardl FEe gk SO R € HOTT I,

wh,
%, IreevmET AR Tt wiivgeren geeai¥EE auE A,
ot I : ‘ e
1) & A (2) w9 (3 wFH (4) HoEd T

Which one of the following statements is incorrect ? ;
a. Anordinance cannot contravene the Fundamental Rights any more than an act

of Parliament.

b. An ordinance may be retrospective or may amend or repeal any act of
Parliament itself.

c¢.  The power of ordinance can be exercised by the President without the advice of
the Council of Ministers. '

Answer options !

(1) Ounlya (2) Onlyb (3) Onlyc (4) None of the above

Y] SHTATG! ST | SPACE FOR ROUGH WORK : P.T.O.
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q.  F ugod o9 318 v v eda.
%, d 4ug ve™ faamien e aw swamd.
g A WS Ot de agmi AuaT AEEHE SIHE TN,

it I

(1) faum 31, 7 sew amed

(2) fa9um 9, %, 5 TR M
3) faem 9, % T oma

(4) faeam 1, 7, %, © AN I

L13 14
25. AW B TsT faue wRvey faees e 0
¥, 9w e 3. Wieg
®. 999 5. A
iy I ;
(1 =#€,9 (2) ®, 8 (3) A, 9, (4) 9, %, 8
Which States abolished the Legislative Council in India ?
a. West Bengal b.  Tamil Nadu
c. Punjab _ d. Gujarat
Answer options:
(1) ab 2) cd 3) abc (4) b,c,d
26, WRAA WEHREE 99 e fqun faemm o

Consider the following statements about the ‘Attorney General’ of India :

a. He holds office for a term of five years.
b. He holds office during the pleasure of the President.

¢. He is entitled to the privileges of a member of Parliament.

d. He is not a whole-time counsel for the Government nor a Government servant.

Answer options :

(1) Statements a, b are correct
(2) Statements b, ¢, d are correct
(3) Statements b, ¢ are correct

(4) Statements a, b, ¢, d are correct

FeEgT HHETETST ST / SPACE FOR ROUGH WORK
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27. SHHFSHAR I F9 A@l (FEUERE T
a1, T oda ( ) 9. = Yo g It
F. .. st 5. = S
it I ;
1) A,9,F,3 (2) o, 9,3,
(3) q,%,9,F 4) A, %9,
Arrange in an appropriate order according to the tenure (Governors of Maharashtra) :
a. Vijayalaxmi Pandit b.  Dr. Shankar Dayal Sharma
c. P.C. Alexander d. P.V. Cherian
Answeroptions: |
(1) a,b,ed (2) a b,d e
3 adbec _ (40 a,cb,d
28. el SN ArAYY YoEAl
| FeH TG
A Fw - 54 I T sl wa apgd fewmh fadia ome
9. Fowm 53 II. wrarean ugadt ot Fagvs @idt Fates 1
F. Foaw - 58 I, srar=an Upadt Tt wgritenm wfean
. Fow - 61 IV. sRares Tgadt <t fRasudt et <t oma
T feden g%arm 9 3 fae
gl I : :
R q ® S
1 IV 111 1 II
2y II I v I11

3 III 11 v I

4y I v 11 II

Match the following pairs correctly :
Articles Provisions

a. Article—54 1. The Executive power of the Union shall be vested
in the President

b. Article—53 II. The electoral college for the election of the President
of India

c. Article—58 III. Impeachment process of the President of India

d. Article-61 " IV. Qualification for the election of President of India
Choose the correct answer from the codes given below :

Answer options :

a b c d
1 IV III I IT
2 II I v III
@ m 1 v I
4) I v II1 11

FoeqT HIVTHEIST ST / SPACE FOR ROUGH WORK P.T.O.
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29. Iy FEA AeEl.
&, A wdt A e T aerg osw Rifttisen 1972 95 ¥,
., QR g ST SRy WEREWEd 1975 HE .
®, QW gH ST Afdive TR qeE S 25 AR
ot 39
(1) ®wHH, (2) wHF A, H (8) = h 4) #ﬁﬁa

Select the correct statement/s.

a. Employment Guarantee Scheme Committee was established by Maharashtra
State Legislature on 1972.

b. Employment Guarantee Scheme was initiated in Mabarashtra on 1975.

¢. Total number of members in Employment Guarantee Scheme Committee
are 25.

Answer options ;
{1) Onlyab (2) Onlyb,c (3) Onlye (4) Onlyb

30, USIT=N ye Bivar gedl @elis Gum faama o
F. | USE A TR YW U HRA HEA.
& o HhCHICH W@ SETES U SRR Hedwd.
%. 9 fownfa oftees (Zonal Council) yex wfia wepdt sriw sEaw.
2. 3 TS A Fg MEAER F9H WEVAS SIE AU v SRR A,
3. d 3afm s ard (Residual Legatee)fﬁ"uﬁm HEAM.

gt It .
(1) Tur o, 9, %, 3 90U 2" (2) T s, %, 3, $ St ome
3) fum 3, 7, 3, § WwART (4) fogm @1, 9, %, & * 0= 3RG

Consider the following statements about the Chief Secretary of State :

a. He acts as the head of the State Civil Service.

b. He acts as the crisis administrator in chief.

¢. He also acts as the Chief Secretary of the Zonal Council.

d. He acts as the principal channel of communication between State and Central
Government.

e. He acts as the Residual Legatee.

Answer options : _

(1) Statements a, b, ¢, d are correct (2) Statements b, ¢, d, e are correct

(3) Statements a, b, d, e are correct (4) Statements a, b, c, e are correct

T HEFATA! ST / SPACE FOR ROUGH WORK
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.?ﬁwiﬁ‘ﬂﬁm:

¥, TR A GEas U AR Tgudien AR.

T, I A wees HE ARHER TR 3R

%. e derh fov gl o S

5. geg oo e TR g1 &1 R Y.

watd 3 ; |
(1) ®EA, T 2) 4,3 (3) T A, ® (4) WE®,3

Select the correct statements :

a. President has all powers af court-martial.

b. Governor has some powers of court-martial.

¢.  Death sentence can be pardoned by the President.

d. Death sentence can also be pardoned by the Governor.

Answer options:

(1) Onlya,b (2} Onlyb,d (3) Onlya,c (4) Onlyec,d

32,

CIRIGRCUICATE IR

&, mﬁﬁmﬁm@mmmﬁmmwﬁmmﬁ
Al SO ATE.

= mmmmmwwmﬂmm
HITE SrEtEeY] - T A o TR T Felel! aW Ee 7 - TR HErE
afier o,

qarf 3w
(1) a3 €OR @ faum 3 =R
(3) A faun ThH=h @) S fum Tt

Consider the following statements :

a. Nolaw made by Parliament shall be deemed to be invalid on the ground that it
would have extra-territorial operation.

b. Parliament has the power to make laws with respect t.o any matter for any part
of the territory of India not included in a State notwithstanding that such
matter is a matter enumerated in the State List.

Answer options :
(1) Statement a is correct (2) Statement b is correct
(3) Both the statements are false (4) Both the statements are correct

YT SETHIST ST / SPACE FOR ROUGH WORK P.T.O.
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83, s A& (WRATdS 3= =T ) |

‘o (3= =TETEE) ‘@ (TaTaT o)
A, T I. 1975
g, fawhm 1. 1949
*. A RV III. 1936
5. R IV. 1966
Tafdt 3t
) E I
(1 I 11 m 1
2) II I I IV
3 I I IV I

4) IV I11 II I
Match the pairs (High Courts in India) :

‘A’ (High Court) ‘B’ (Establishment Year)
a. Rajasthan I. 1975
b.  Sikkim II. 1949
c. Madhya Pradesh III. 1936
d. Delhi IV. 1966
Answer options :
a b c d
1 1 II m 1w
(2) II I m
@) 1 11 Iv 11

4 IV III I I

34, qu wEWy fumanedt qama%ag{ﬁﬁaﬁﬁwﬁt@aaﬂ%aaiﬁ
_ e & gl sder TeE e,

(1) 33-14 (2) 15-16 (3) 29-26 (4) 26-27

At present constituencies are reserved for Scheduled Caste and
are reserved for Scheduled Tribes of the Legislative Assembly of Maharashtra.

(1) 33-14 (2) 15-16 (3) 20-25 (4) 26-27

SHTEY] HBTATHIS! SR / SPACE FOR ROUGH WORK
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35. 3 FUR e
ar. o faidrs gdvun oo SRENa WiST ST I
q. " T wdvem e e Temen Il HIoTETE SVETETG JiSer S ek,
%, Tyaden Rewd o e qagned miga 39 uwdl.
3. O s R Tpadien e adawd wiear 3 ).

gt Iw ;
(1) &P H, (2) &h &,
@B) TEA, 4, F 4) ®H A, T, T

Select the correct statements :

a. A Money Bill can be introduced only in the Lok Sabha.

b. An Ordinary Bill can be introduced either in the Lok Sabha or Rajya Sabha.

¢. A Money Bill can be introduced in Parliament on the recommendation of the

President.

d. An Ordinary Bill can be introduced in Parliament on the recommendation of
the President.

Answer options : .

(1) Onlya,b (2) Onlye,d

(3) Onlya,b,c (4) Onlya,b,d

36. weleie! Wi fuaA sk SR ?
H.  AT82-365 W UFudId TsaKd TP Usae S Foars fwR IgM wE.
T Ugudl U9Ede O Feadied U Afgren waEdld o Hgen qeeed S
VAR WI=IaT QU TR 3.
%, W HGISA G Qg A foeft ot gdie e awived Tgudt Teee S TR
g, Ew Toige S FvamEn ol e ® w5 we
aatdt aw ;
(1) e 2 FTHEIAMMS 3 HRFAMS 4) BrAaMg
Which of the following statement/s is/are not correct ?

a.  Article-365 also empowers the President to issue a proclamation of President's
Rule in a State.

b. A proclamation of President’s Rule must be approved by both the Houses of
Parliament within one month.

c.  If approved by both the Houses of Parliament, the President’s Rule continues
for one year.

d.  The decision of imposing President’s Rule can be struck down by the court.
Answer options : :
(1) Onlyb - {(2) Onlybandc (3) Onlycandd (4) Onlyaandd

BRG] PETHIE! SR / SPACE FOR ROUGH WORK P.T.O.
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Gl v favm avar IR ?

(1)

(2)
(3)

(4)

15 eaRIET FRT 3FEdT FHIE] T3,
UaTe ARESTde BeET SedT JeanEEiEd 12 Yan S vEw s 1.

fegen Hfiveer e s fanemie v ao FEe 15 ok Rifa woai
AT AR,

Tt T

Which one of the following statements is correct ?

(1)

(2)

(3)

(4)

The total number of ministers, excluding the Chief Minister in a Stdte shall not
exceed 15 percent of the total strength of the Legislative Assembly.

The total number of ministers including the Chief Minister shall not be less
than 12 in a State.

The strength of the Council of Ministers of Delhi is fixed at 15 percent of the
total strength of the Legislative Assembly.

None of the above

AT Fhen Tow T TR A T e W 7

A, HEEA T2

CIC o

. feur=a vem

EAELEL

3. IHEd

gtz 3=t ;

(1) HHA,E, & (2) H®E, ™, &
3) BHH, 3 (4) wh R, 9,8
Which of the following States has only one member in Rajya Sabha ?
a.  Arunachal Pradesh

b. Goa

c¢.  Himachal Pradesh

d. Mizoram

e Uttaranchal

Answer options :

(1) Onlya,b,c (2) Onlyb,c,d
(3) Onlyc,d, e (4) Onlya,b,d

& FFTHTA! SR / SPACE FOR ROUGH WORK
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89. orFpEiw Nagvhadl i W W g 99k,
(1) Y™ TE TAFEHST
(2) HireaTd) I ARTRETHSA
(3) <91 9aER WA FaS Teamt AR w1 HaeR JuKa TRErd g
(4) SPAR IRAT TP AR FIUEE] G AR HUTAT FagidKd] Held 99 digiaeiet
AR TATHEA
For election to the Lok Sabha, a nomination paper can be filed by
(1) anyone residing in India.
(2) any citizen of India.
(3) aresident of the constituency from which the election is to be contested.
(4) a citizen of India whose name is enrolled in the electoral roll of any
" parliamentary constituency.
40. SiEE AE (TP AfER) |
‘o | | <
. RaTeal S fha wEren Wi siofieEmf L =% 360
q.  wegared foawnar aue fhan wiey II. 7=3% 354
%, Yovd ARSI ey i II. 7<_% 352
3. fefia snoftamofsh divon IV. 37=ag 359
Tt 3| ;
H L % T
(1) III II I v
(2) 1 II 11T v
3 III IT v 1

(4) III v I I
Match the pairs (Powers of President) :

. Al GB’
a. Emergency in the whole or part of India I.  Article 360
b.  Restrict or prohibit the distribution of revenues II. Article 354
¢.  Suspend the enforcement of fundamental rights ITI. Article 352
d

To declare a financial emergency IV. Article 359
Answer options : : |
a b [ d
(1) III II I v
(2) 1 Il I w
3) I 11 v I

(4) III v II I

FTEIT FTAEIE ST / SPACE FOR ROUGH WORK P.T.O.
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41, Hg TY gHKE SyaeEEa S F§ I St
. fhar wiftre osaHl uow e fmarded S wer oeft dwgen faAd e
®.  UFIESE HEwaT=A1 O] fHuaTeEd USaH T8 U Aed1 Jgaa He e
liadehl Hudt faumA aviay omRd ?

gt Iy ;
(1) A, 49 (2) Wad A
(3) hed & I =+ (4) TFH UFHE ATE

The Parliament can make a law on a subject in the State List when
a. aproclamation of Financial Emergency is in force.

b. one or more States make a request to the Parliament to make a law on a State
subject.

¢. Raya Sabha passes a resolution by simple majority that such subjects have
acquired national importance.

Which of the ghove statement/s is/are correct ?

Answer options:

(1) a,b,c (2) Onlya

(3) Onlybandec (4) None of the above

42. TEee @R I FF A
¥. &R w9 fohar A9 .

q.  wfed) wmfam.
%. HEaEs e =i 2Etg e,
€. GfaumErE TIar F.

it I e
(1) HF A, 9, F (2) B, H, 3
(8) $W3H, &8 4) TRA 9, S

The role and functions of the Parliament are
a. to form or end the Government.

b.  to call for information.

¢. to monitor the expenditure of public funds.

d. to safeguard the Constitution.

Answer options :

(1) Onlya,b,c (2) Onlyb,c,d
(3) Onlya,c,d (4) Onlya,b,d

o] FHEE! ST / SPACE FOR ROUGH WORK
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e G Frfifier @ areRONgsY WA A W
TyoedE THgA F .
Y@UUE JAEE WA,
TR JTT } F69 | .
RS Frs 9 T WEse 39 F W
g I
(1) += A, 49, % (2) BB ®H, E, T
(8) THH,H T (4) o= w4

o 8 @ ¢

The expenditure charged on the Consolidated Fund of India shall include

a. the emoluments and allowances of the President.

b.  the emoluments and allowances of the Prime Minister.

c. the salary and allowances of the Chairman of the Council of State.

d. the salary and allowances of the Comptroller and Auditor General of India.

Answer options :
(1) Onlya,b,c (2) Onlye,d,b
(3) Onlya,cd ' (4) Al of the above

44.

i 9 v gliys i) 30 onftn v

(1) e RN SgmEed 6 UBTehed v et wm,
(2) HEHE AR P T |

(3) ¥ wAsHE agmaTa w1 TPadigr v ¥ 9w,

(4) F=9 dirserre R $a 9.

The salary and allowances of the Comptroller and Auditor General
(1) are determined by the President in consultation with the Chief Justice of India.
(2) are determined by the Parliament.

(3) are determined by the President in consultation with the Union Council of
Ministers. '

(4) are determined by the Union Council of Ministers.

FTEqT HHATST ST / SPACE FOR ROUGH WORK P.T.O.
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45. Sisa a4l (ARTH §eH) -

*. IES . 5
g M v. 6
gt I

<} | * T

(n Iv III II I
2) I v 11 1
3y 1II I 11 v

4) I v I 111

Match the pairs (Member of Lok Sabha) :

| ‘A’ (State) ‘B’ (No. of members)
a. Himachal Pradesh L
b. Jammu and Kashmir II. 4
Uttarakhand II1. 5
d.  Goa Iv.

[+

Answer options:

a b c d
1 IV I II I
(2) II v n 1

@ o I n

4) I v II I11

TegT BINTATG! ST / SPACE FOR ROUGH WORK
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46. ‘i W T R SO aRde whweren 79 gl JEWE FATT
T AE 2
(1) @ (2) T
(3) wuEdl (4) 9@ sIfmn
‘Local government is included in the _________list in the 7™ Schedule of the
Indian Constitution.
(1) Union (2) State
(3) Concurrent (4) Residual Powers
47. TEATRUIGE SYFEEd famd srgw faum fae
3. TR ASHWel WRE w80 qedTi 8 I
¥, I ISHWE AWFAT A 0T HHR AT
%, HIGE T ASHALD FOEE WS ATg ¥Fa TTEr.
ot I
(1) =, = (2) N AT
(8) %= 3 3N ® (4) H T A
Find the correct statements from below about Commissioner of Municipal
Corporation.
a. The Commissioner can participate in discussions in the meetings of the
Corporation.
b. The Commissioner cannot vote in these meetings.
¢. The Commissioner cannot make any proposition in the meetings.
Answer options : :
(1) a,bandc (2) Onlyaandb
(3) Onmlyaandc "~ (4) Onlybandc
48. T TW EOS ARRW I Aen Teft gere fum /A Rae.

W AR Fg e onfr tou REw @ 27 wm AL

¥, Uod (Em ArTE %E-uey eV R 60 : 40 TR

F.  TIE YA IR ST USHTEIE hy -0 SR O 90 1031%:11\%
;mﬁi%;mﬂamwﬁguﬂmso.maﬁ

(1) #,9, FA0rg (2) A ¥ onfr %

(3) W& & MMl g 4 wHE

Find the incorrect statement/s about Rashtriya Gram Swaraj Abhiyan.

a. The scheme congists of Central and State components.

b. The Centre-State sharing pattern for the State component is in the ratio of

60 : 40,

c.  In North-East and Hilly States, Centre-State sharing pattern is in the ratio of
90:10. '

d. For all UTs the sharing pattern is in the ratio of 80 : 10.

Answer options :

{1) a,b,candd (2) Onlybandc

(3) Onlycandd (4) Onlyd

&eeq] TS ST | SPACE FOR ROUGH WORK - P.1.0;
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mﬁwﬁmgﬁélﬁﬁﬁmﬁvﬁﬁa@
T, mmﬁmmmwmﬂaﬁammmwm

.  WIHESITHE FoF NS W TE I
qaidt 3wt

(1) AFFAMF (2 FmAFUF 3) wTEAIAE (4) T A

Find the incorrect statement/s about Cantonment Boards.

a. ‘Local Self Government in Cantonments’ is included in the concurrent list in
the Indian Constitution.

b. Cantonment Boards are democratic bodies which look after the municipal
administration of notified areas.

¢.  There are three population-wise categories of Cantonment.

Answer options :

(1) a,bandc (2) Onlyaande (3) Onlybandc (4) Onlya

60.

T Wi T deMta de faumrm g@e faum faen.

(1)m@wmmmwmamﬁiﬁmaﬁﬁmw
N U Aal.

(2) JumEd OF @ A qEia Iwnfad sredwes weva give Tt & g aar e o

(3) =Ygl Tt UF s w, fon enf el o wivET Hw IR,

@ & o fifa smm 3 oo e @@ 9 @R S o,

With reference to Panchayat Devolution Index, find the incorrect statement.

(1) The Index assesses how far the States have progressed in empowering
Panchayati Raj.

(2) The Ministry of Panchayati Raj and the National Council of Applied Economics
Research have prepared the Index.

(3) The Index measures the functions, finance and functionaries of the Panchayati
Raj Institutions. '

(4) The Index was prepared by the NITI Aayog and the Ministry of Rural
Development.

51,

e TSI Qe gyl S v aaEy g ?

A, T I g ¥, e g

F.  FUSUE AdwE T, ouTd B

atdt I

(1) w&d 3, Ty g (2) w9, F AN
(3) wIa A, $ AT (4) w4 34, 3 FUH
Which subjects are included in 128 Schedule of the Indian Constitution ?
a. Roads and bridges b.  Fire services

c¢.  Slum improvements d. Postal services
Answer options :

(1) Onlya,bandd (2) Onlyb,candd
(3) Onlya,candd (4) Onlya, bandec

ool DETEIS! SFT / SPAGE FOR ROUGH WORK
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52. FrurEguia @efter faum faama o
# “or ot TRuReRRTER 38 G 65 W JTEdI.
7. ‘Tt TRwfrrae) 237 37 Hq= SEA.
%,  “F 9 TRaeRAel 174 23 §EH STEA.
5. ‘g’ ot Trufme) 119 17 959 J1EdN.
TR v faue aker aea ?
T IW _
(1) & A, ¥ AN “ (2) wad €, F 0T S
(3) w3, & afur g (4) wFa A, g I e
Consider the following statements regarding the Municipal Councils :
a. There are 38 to 65 members in “A” Class Municipa.l Councils.
b. There are 23 to 37 members in “B” Class Municipal Councils.
¢. There are 17 to 23 members in “C” Class Municipal Councils.
d. There are 11 to 17 members in “D” Class Municipal Councils.
Which of the following statements given above are correct ? ‘
Answer options :
(1) Onlya bandc | (2) Onlyb,candd
(3) Onlyacandd (4) Onlya,bandd

53, i g g Rrendt savia Grcfedd SR/ fumA @ s/ 2
9. = yuEdE 3t sgaegr Savar I,

%, fyear dfvden fea wiw s PesAmarE sEmer stfvam I@.

i Iue

(1) %A _ (2) A 3F 7T @

(3) BT 4 wRFa®

Which of the following statement(s) regarding the Ashok Mehta Committee is/are

incorrect ?

a. The Ashok Mehta Committee recommended the creation of a three-tier system
of Panchayati Raj.

b.  Nyay Panchayat should be kept as separate bodies.
c.  Zila Parishad should be made responsible for economic plarning at the district

level].
Answer options:
(1) Onlya (2) Onlyaandb
(3) Onlyb (4) Onlybandec

FTET FTHRIS AT / SPACE FOR ROUGH WORK ‘ P.T.O.
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54, Iufawri st s TR,

¥, Aegl SER E3E0  qqraelt s

¥, i sreEEe ageEa fidg 20

%, (e et s faveemd e o

g el WA qqrEel! o

qgidt 3 :
(1) a3, § 1 % (2) W& ¥, § MM 3
(8) Wad A, & Hfr s 4) SRIE, HAME

Duties of the Sub-Divisional Officer are

a. To supervise and inspect all revenue matters

b.  To give decision in cases pertaining to land rights

c¢. Torecommend to the Collector for grant of arms license
d. Toinspect schoel administration

Answer options : ‘

(1) Onlya bandc (2) Onlya bandd
(3) Onlya,candd {4) Onlyb,candd

55. Twd Rad) gevla Fuln soemn s et arh fetien fvfarfaeg o anfor fadt
feaar=m ata adter st A 2 '

(1) g = 15 e s
(2) = =EeESs 30 fiarsn s
(8) Fmrfle sgwRe 15 Rewr=n a1ma
4) fiem faeym sgraehe 7 fegar=n 3@

To whom and when can the appeal be made against the judgment of a Collector on
the disputed election of a Sarpanch ?

(1) To District Court within 15 days
(2) To High Court within 30 days
(3) To Divisional Commissioner within 15 days

(4) To District Election Commissioner within 7 days

Foed IS SAN / SPACE FOR ROUGH WORK
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56. Ul SEd um WOW A-Eguid @ fea faemae e
3. @ S ity Berla FEaE Teeg FoamE TefawmE 3.
T, A ofwld FEaAT SddeEd 9 YA SEEH ATgR St 39 Pmf swersn

HIYATET @B Hell Sl
F. T A THERE TIAT HIRAE i oA el .
aliedehT i/ fem 3?337?311%/?! ?
it I ; |
(1) W 3 o1 (2) W § fn H
(3) waa 3 1 % (4) TR F
Consider the following statements regarding the Swarna Jayanti Gram
Self-employment Scheme :

a. This scheme is implemented to assist famlhes 11v1ng below the poverty line.

b.  Under this scheme financial assistance and government subsidies are provided
to furnish the families with permanent income generating tools.

¢.  Self-help groups are not assigned any role in this scheme.

Which of the statement(s) given above is/are correct ?

Answer options :

(1) Onlyaandb -+ (2) Onlybandc

(3) Onlyaandc (4) Onlyc

57. Wi faum faemoa =
. ﬁmuﬁ?ﬁmﬁrﬁmqﬁw&aﬁm%ﬁa@aﬁém
9. YuEd el e devardt wha i 9w 18 ¥ 1ol s wi.
®.  EEd (5w geue et Tsv ey smammean arieeimarell Saen S
s Wmﬂmﬁ?ﬂwmavﬂmwmﬁamwwﬂ

Tl wivr/dt fram aoiary s/ ?

Tt I ; '

(1) aa & AT ¥ (2) WEd N, F T
(3) Taa A (4) Thaq F iy &

Consider the following statements :

a. The Panchayat Samiti and Zila Parishad members are directly elected.

b. The minimum age should be 18 years to contest election at the Panchayat level.

c Elections to the Panchayat Raj Institutions are conducted under the guidance
of the State Election Commission.

d.  For the financial review of Panchayats, a Finance Commission is established by
the State Government.

Which of the statement(s) given above is/are correct ?
Answer options :
(1) Onlyaandb (2) Onlva,candd
(3) Onlya ' (4) Onlyaandd
AT FTHRTS AN / SPACE FOR ROUGH WORK : P.T.0.
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58. Wi faum femE = -
3, WA deal gt v 1957 95 Fwoam oATelt g
W WO HEdl e WevR A et 8.
% IR patem, f.56 19, S, B R a efeiR o gge A, -
3. wRaw waweR el durd T sraed sineaaavi Toear 4 et
el ot e vy omRa 0

gt W _
(1) wFa 3, § o & (2) Hud F, S AT g
(3) ®Ed A, & AT (4) Wed o, W T ¢

Consider the following statements :
a. The Balwantrai Mehta Committee was established in 1957.
b. Balwantrai Mehta was the ex-Chief Minister of Madhya Pradesh.

c.  Thakur Phoolsingh, B.G. Rao, D.P. Singh were the other members of the
Committee.

d. Rajasthan was the first State to implement the three-tier Panchayati Raj
System.

Which of the statements given above are correct ?

Answer options :

(1) Onlya, b and ¢ (2) Onlya,bandd
(3) Onlya,candd (4) Onlyb,candd

59. wrehia faum faema =n .
A, 73 O TATGEEAS AN O AEAY B WRA S FHH TG ST
3. 73mm@mmﬁﬁmﬁmmwwmqgmm
Fhah st fum grer amea ?

g S
(1) a3 (2) a9
3) Fafurs (4) 1 anfor v L T

Consider the following statements :

a. Maharashtra became the first Indian State to implement the
73™ Constitutional Amendment.

b. Mizoram, Meghalaya and Nagaland were exempted from the
73" Constitutional Amendment. :

Which of the statement(s) given above is/are correct ?

Answer options :

(1) Onlya (2) Onlyb

(3) aandb (4) Neitheranorb

FeTAT HIFTHT ST / SPACE FOR ROUGH WORK
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‘ar @
. Hm i. ﬁm
q 9 ii. T EYg
I iii. IWAAIR
3. PBw v, 3R
o I ;
H L =+ k-4
(1) iv iii ii i
(2) i iv i i
3 1 iii iv i
(4) iii ii iv i
Match the pairs (Panchayat in Medieval Age) :
£ Al t‘B’
a. Moga i.  Shikdar
b. Pargana ii. Sarpanch
c. Prant ili. Amalgujar
d. Shik iv. Amir
Answer options :
a b c d
1) v iii ii i
(2) il iv ii i
3) ii 1ii iv i
(4) iii il v i

61. TPE =RE P S @ TEN sleEe ST JET Tl Grefier SR ae S |
H, RGN T ~FEgd
4. T YTEN 2 S A e ARy S
%. wuuea, foft anfor =mesh _
3. o foem =fe, 3 TORSTie e T G A gR S4M, SaSuH, YRAE T

=t amfor fatrftagman Jar @
g I )
(1) valg &1, & anfr = I s (2) g, % A 3 I ARG
(3) e 9EF € MY AR (4) 49 =g A g

There shall be a commission to be known as National Judicial Appointments

commission, consisting of the following, namely :

a. The Chief Justice of India

b. Two other Senior Judges of the Supreme Court next to the Chief Justice of India

c. The Union Minister Incharge of Law and Justice

d. Two eminent persons to be nominated by the Committee consisting of Prime
Minister, The Chief Justice of India and the Leader of Opposition

Answer options :
(1) Option a, b and ¢ are correct (2) Option b, c and d are correct
(3) Only option d is correct {4) All options are correct

U] HHRITE! AR / SPACE FOR ROUGH WORK P.T.O.
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62. wpwenicl eIy I GTENEE ahHl SEedE UPWl, ARWE HAw IreEl UG
HEEATAT T TETa6 Thig <hie], i STEAs) 7ol ueed, qreAT faeg Qiefier Jhio e &l

5. fearewtan s e o o/,
¥, oA HECEEA/EE HAEe e ol A e gedt srEm s

FTECATH.
%, ugTdten freada df wif T Amfes gEodge e =g Savam omi e,
8. TEdvEhEidt g gt e

iy 39

(1) w3 3, ¥ onfr % 9 aga

(2) wd g3tz qvg e

(3) g w8, % anft ¢ Ay FRa

(4) AR 3, ¥ 0N E AT TR

In case of a complaint against the Chairperson or member of Lokpal, the President

may, by order remove from the office, the Chairperson or any member, if the

Chairperson or such member as the case may be

a. is adjudged insolvent.

b. engages during his term of office, in any paid employment outside the duties of
his office. '

c. in the opinion of the President, unfit to continue in office by reason of infirmity
of body or mind.

d. deemed to be guilty of misbehaviour.

Answer options :

(1) Options a, b and ¢ are correct
{2) All options are correct
(3) Options b, ¢ and d are correct

(4) Options a, b and d are correct

63. HaT=E AT e HEASHE G S0 HEAE ?

(1) g (2) YA
(3) WG FETET (4) uue

By whom is Advisory Jurisdiction of the Supreme Court used ?
(1) President (2) Prime Minister
(3) Chief Justice of India (4) Parliament

FTHAT FATETE! ST | SPACE FOR ROUGH WORK
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64, UG o, URHE TSUHASAl Feag 217(2) ol @ieflendh wivear wifdla 3=

RIS AR v g S I SRR A7 ?
(1) = wRaTE AR T W®

(2) 1 SR TS Uswaam e 10 96 =i 92 uww s AR

(3) @ = I ANEEE owar o fhar fE EeET aviue witewdt 10
tftrerht oM

(4) = A S ubmzen firera Felt am

Under which of the following conditions as per Article 217(2) shall a person not be

qualified for appointment of a High Court Judge ?

(1) Heis a citizen of India

(2) He has held a judicial office for at least 10 years in the territory of India or of
two or more such courts in succession

(3) He has worked for not less than 10 years as an Advocate of a High Court
(4) His name is not recommended by the Council of Ministers

85. WEEIh FScATE FRONEGEA FAfed I grae wear 39 :
A, Nl @
§,  defemd
F.  wfeen Fe=R, TafFaTiEan Jebia T, FACER, 9 G 3R Wit A
3. URiHEhgA THR TET FEA A THR T Teld Heedl e ST 9 9 Jedw
Al I :
(1) o ¥, 9 a1t &% drg amea
(2) val =, & M 3 4 IR
(3) W& W A ARd
(4) e YET 3 o1 F ARg aTRd

Ordinarily the letter or petition falling under the following categories should be
entertained as Public Interest Litigation :
a. Neglected children
b. Bonded labour matters
¢.  Petition against atrocities on women, bride burning, rape and murder, etc
d. Petition against the police for refusing to register a case and also for
harassment by police in police custody
Answer options:
(1) Options a, b and ¢ are correct
(2) Options b, ¢ and d are correct
(3)- All options are correct
(4) Only options a and b are correct
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66.  SESHT T Wieferdsh) wo/d faums @ E 2
. oErE A waEd 1efiE, 2002 3 31 91, 2007 g
a.  MNAD 5D i 8%
%, i 9@ Ei 10%
3. 2007 v e 91 7%
ot I ;
(1) & ¥ (2) a3 Ifor g
(3) A, ¥ M0 = (4) TRt B
Which of the following statement/s is/are applicable for the Tenth Plan ?
a. The Tenth Plan’s duration was 1 April, 2002 — 31 March, 2007
b.  Target of GDP growth was 8%
¢.  Target of industrial growth was 10%
d. Increase of literarcy to 7% by 2007
Answer options :
(1) Onlya (2) Onlyaandd
(3) Onlya,bandc (4) All of the above
67. Wehaus! Hivfl e a4-a%q sgateE aar ol ?
(1) wgleHEE
(2) T
(3) Hi.ud. Tehiet oy dt.aAR. W
(4) “méw wEdt
Who of the following formulated the wage-goods strategy of development ?
(1) Mahalnobis
(2) Ragnar Nurkse
(3) C.N.Vakil and P.R. Brahmananda
(4) Jagdish Bhagwati
68.  WRATHE SPTIE J&a HI0 Hlorydl TR/ ?
¥. fooman snne ¥, U GRo
®. W GEEE s Fiew
Tt I _
1) wRAFME (2 wFF (3 FHRAMMET (4) TH Ed
Which is/are the main cause/s of unemployment in India ?
a. Lack of education b. Employment policy
c. Inappropriate technology d. Poverty

Answer options : |
(1) Onlyaandb (2) Onlyc {(3) Onlyaandd (4) Allofthe above

FHOET SHETATS! ST / SPACE FOR ROUGH WORK
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69. TYW IAER 2:1 T4 (W gUaH] 913 UEEd - AW ¥ ufgew UeEie deee AEd B,
T 3 ot 3.
(1) feadt 33 2@ @4
(2) it 4-2 7o g
(3) vwiadf 4.5 @
(4) witad 56 T8 @A
The First Five Year Plan’s target was 2-1 percent per annum increase in national
income, actually it was fulfilled by
(1) 33 percent per annum
(2) 4-2 percent per annum
(3) 4-5 percent per annum
(4) 5-6 percent per annum

70. WeidH UGN PG ToT 3= UG faee i geras el 3 AN I a%e
e ? - '
(1) WerE (2 W (3) T (4) >
Which of the following States in India shows a wide variation in higher human
development and relatively lower income ?

(1) Maharashtra (2) Punjab 3) Gujarat (4) Kerala

71 WRAR derasd FHE TeT AreEH Hivd ?

H.  ICIEE ITH

4. IR T

% qfea

3. SO wuen

wardt I

(1) % H (2) $H&F
(3) ®F H AT = (4) od<hl wa

Which are the main challenges in the Indian Economy ?
a. Low per capita income

b. Income inequality

c.  Poverty

d. Problem of unemployment

Answer options :

(1) Onlya ' (2) Onlyb

(3) Onlyaandc (4) All of the above
Poed] PINTHIS! SR / SPACE FOR ROUGH WORK . P.T.O.
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72. @rea faum foamE o -

. 1984 HEY HETIE WA Wi srwdleat et aftet e h.

9. @ fam. Tide o s sremw A,

atierteh! Hra/dt fumA avier ama 2 .

(1) & A (2) W« (3) wafrs (4) AH T

Consider the following statements :

a. In 1984, the Government of Maharashtra appointed a fact finding committee

on regional imbalances.

b.  Dr. V.M. Dandekar was the Chairman of that committee.

Which of the statement/s given above is/are correct ?

(1) Onlya (2) Onlyb (3) aandb (4) None of these
78.  TESAT AISAA HIOEET AT T & WHwET 3T ?

¥, v &

5. FfiEm

% GERN &

w.  Toww 8

Qe I |

(1) W& (2 wRIFAMIE () WS (4) I AT

Which sector is assumed as ‘Core sector’ in the Tenth Plan ?

a. Industrial sector

b.  Agricultural sector

c¢. Co-operative sector

d. Educational sector

Answer options :

(1) Oniya (2) Onlyaandb (3) Onlyb {4) None of the above
74. 2011 - 1271 a6 2004 — 05 =1 FER FErdten gl Samen e e @ R 7

(1) 16-48 (2) 26-11 (3) 5742 (4) 29-64

What was the percentage share of tertiary sector at constant price of 2004 — 05 in

the year 2011 - 12 7?

(1) 1648 (2) 2611 (3) bT-42 (4) 2964
76.  @relteddhl Fr 3w 1999 — 2000 THie WRATA Mg WHIOT Wt ?

(1) 36-0% (2) 2710% (3) 26-1% (4) 37-3%
Which of the following figures indicates rural poverty ratio of India in 1999 — 2000 ?
(1) 36-0% (2) 2710% (3) 261% (4) 373%
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76. @eha 13 20 T dfits Geaiar e daen AEE S0 1@ Se AR, AE e for
e ghe faum e
20A,16154B1201076D2171498518E
(1) D= Iuigrrh fFma B =41 fmdigan <5,
(2) E 71 aurferh fwe e 13 2.
(3) AT Ui fhug fAffgaa 3 o,
4) B v o @ 1 19 s@a.

Given below is a list of natural numbers 1 to 20 in such a way that sum of each
adjacent pair is a prime number. Study the list and select the false statement with
respect to it.
20, A,16,15,4,B,12,C, 10,7,6,D,2,17,14,9, 8,5, 18, E
(1) Value of alphabet D changes according to value of B.
(2) Value of alphabet E is definitely 13.
(3) Value of alphabet A is definitely 3.
(4) Value of B may be either 1 or 19.

77. O AR Wikkd Wi FRme senn st fas

.l"lr .
"f \\ <
L
=
8 17
1) — 2) =
(1) 5 (2) 30
5 1
3) = il
3) 3 4) 5
Select the fraction that represents lined part of the accompanying rectangle.
I WY
fll'_ “\\ -
‘]___
s
8 17
1) — i
( _) 15 & 30
5 1
3) 3 (4) 3
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(1)

3)

R

—

(2)

(4)

-

1

2

(2)

(4)

+
|

Left-hand transparent paper sheet is folded to get single square shape as shown in
the options by folding along lines. Select the most appropriate fold.
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79, N Yl A faquEa uEA geara el @mmm@ﬂmmm
| ;mmmﬂ%aﬂamw g1 evaidl et T W 7 S T fRE et
f=er
3 aft
3 @ift
A
4 3f
5 ot
(1) 36 2 15 3 6 4 9
Two ants start from point A together and walk at the same speed one along square
boundary and other along rectangular boundary. Select the minimum distance in cm
each one of them needs to cover for meeting again.
3 cm
3cm
A
4cm
S5cm
(1) 36 {2) 15 3) 6 4 9
80. T TR 19 nfr Fren Tre gan vREwE B, 39 R $ ww Aum A avn agd
TuRR we T Frawn v w o A @ gen faen
(1) 20C;;  (2) 19Cyy (3) 20C.4 (4) 19Cg
- Select the number of ways 19 pink balloons and 17 blue balloons be tied in a row so
that no two blue balloons are together if all are otherwise identical.
(1) 20017 (2) 19017 (3) 20016 (4) 19C15
8l. AN 8 FW@@ 50 femeft siar=n yamE e, ﬂ?ﬁﬂé’rmﬁ?{mﬁ4ﬁmmmw

HIY I HE A g 10 fEdh anmmr gree sa 9 B o Traeh 2
(1) 40 fht (2) 30 foit (3) 20fwf 4) 10 et

Jaya travelled a distance of 50 km in 8 hours. She covered a part of distance on foot
at the rate of 4 km per hour and a part on a bicycle at the rate of 10 km per hour.
How much distance did she travel on foot ?

(1) 40km (2) 30km (3) 20km (4) 10km

FEEqT BETHTS! ARM / SPACE FOR ROUGH WORK P.T.O.
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@I AEEle 3 HTE G d 95 e e o T8 Sl S Sad. SK
e Y e e Fell; AVE WU F10 3R, [Ted WOl K SIRY, @ @l
ITAI0 FHHT AT FE Whel, IV T F=NIEE gear Fell a AT ISt B Y v
FH WA THed 3 3N SR o sonwta fgd g s e wiitaren w@wa
T @A @a:d ST qdfa FO 3 gEEdt THI. WO 39, v, Remwan, smm enf
TRE A T Q. AT T, o HETE iy snveEth Iy forn wagaid
T . R &M digEd A fayeEren 3 e miETd sereAEn  aw Jeh i s
YT ATV ARG H; § (ITTEH) TR AUV di@a ) e st w2 g
e & 3= THaE R e 9 (e A%, WM w9, ™ @0, JaYR w0 a St
%01 A Tesa T,

Higd=aT GEaTI=AT YIRS S¥IqA 398 8 il A@h (TR B 3R i

(1) WOMEET Wifds e 3a WA R,

(2) FagAT=E SENEAIR WV AT §es eI e sl s,
(3) ol Fed e s savar o s,
(4) R Al e b TeanT AT aciel JEaw.

Much of what goes by the name of pleasure is simply an effort to destroy
consciousness. If one started by asking, what is man ? What are his needs ? How can
he best express himself ? One would discover that merely having the power to avoid
work and live one’s life from birth {0 death in electric light and to the tune of tinned
music is not a reason for doing so. Man needs warmth, society, leisure, comfort and
security : he also needs solitude, creative work and the sense of wonder. If he
recognized this, he could use the products of science and industrialism eclectically,
applying always the same test : does this make me more human or less human ? He
would then learn that the highest happiness does not lie in relaxing, resting, playing
poker, drinking and making love simultaneously.

The questions asked in the first part of the text reveal that author implies that
human beings

(1) have other needs along with physical needs.

(2) are separated from their true nature as a result of products of science.

(3) are always engaged in seeking the meaning of life.

(4) are always engaged in finding the purpose of life.

83‘

T onfon pomer & 9 Ecliaios Iun BTy 3ed. dfed a Y g6l a duare SuH Wy
¥R, TRa @ P fobhe @ Sgieialod 309 @alg, ATed. @R, 1@ 9 #7d9 Feaia 9
IqETAD Iq9 WBTg IR

g, e g sicliaiaer 3T Qg #v A ?

(1) =fe= (2) Fomed 3 (4) TRa

Ravi and Kunal are good in Hockey and Volleyball. Sachin and Ravi are good in
Hockey and Baseball. Gaurav and Kunal are good in Cricket and Volleyball. Sachin,
Gaurav and Mandip are good in Football and Baseball.

Who is good in Hockey, Cricket and Volleyball ?

(1) Sachin (2) Kunal (3) Rawvi (4) Gaurav

FEE] HIATATS! AW / SPACE FOR ROUGH WORK
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“qraTd FarT 91 SARRHEEHTG HEHH Agaad Wi st

T, st onftr Wisaw arear ChtwwT Nfd® 3ragd Fmfor 2. w0 aregwia e
a:gaéaaaqmrwm%m WRAIE qEAGH FAY AHNE A, SN B g0
SO TEH T T A1 AT FETERIET AR Feh . ST HIIH Fiag Fasn
R, ATEEre AT TR WS A RIUTATE ST ST W el et
e, FH GeTdie e el ferne AR T A S Eree ke, g3
WAl wElem Tt s Tl 6g TR
Flia migdwaurds sta adfdaA fae
H., AT Tl TR e wala He e “ARArd aal § AT 9T usd IR,
T, QETHd S WEUd et e IUN STEiErd gEad A gt el e,
%, WEAA Jaren IMiiEd) Wearie qEIe Yo FUM $HRE Tae §4d.
s. mmmmmmmwaﬁmaﬁm
aaiet IW
(1) 3 =resar That el (@ e
(3) o AT U (4) WA 7

Study the following observation noted by author with respect to “Make in India”

initiative :

Economic production arises from a combination of land, labour and capital. But with

this respect, the hurdles for business are immense. India’s land acquisition laws are

impossible. Trying to buy land drives most entrepreneurs to distraction — or resort to

corruption. The current land acquisition legislation is unworkable. And given the

terrible state of land records, there is no chance anyone can do better. Only the

movement of the rural population to urban life will solve the land problem.

Unfortunately, India’s urbanization is one of the slowest in the world.

Select the appropriate interpretation/s with respect to the above information.

a. “Make in India” initiative is suffering as India's urbanization is one of the
slowest in the world.

b.  Rural population should migrate to the urban areas and vacate rural land for
setting up industries. :

c. Government should make laws favourable for procuring rural land for setting
up industries.

d. Government should make it compulsory for rural population to migrate to the
urban area for national development.

Answer options ;

(1) Nonebuta (2) Allbutd
(3) Nonebutb | (4) Allbutb

O] IS AR / SPACE FOR ROUGH WORK _ P.T.O.
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85. T@d: = The News : A User’s Manual. (FI5777: arROT=IA1E] FPici¥fsT) A1 (eaea 3 aigd
Tt ‘omed A duee @wed Fefl AR, R G e OUINTSN Gew ey E99
FOATIS! Afedqeard o F¥ =it S MR, == ‘e SIaEr g1 Heaie IEeE T
2ot/ fauma/a faaer.

.

TR 1 AqE] AT HWIH arears Geyfige fom fradier anfor frafiga
TSV A8 TE) GURUATETS! Fefl HOkeT! Sedred See.

9. SWIfdh STl I AR qusiend Wee waeAvie g fmfn s svemen
SARTIe SRt FUAT Hished Hdlel.

®. LG ST A JEaR ST WHIET gt devaratdt w8 du ot @ Ak
fizagen nea Fliar 9 @ne AT @i afeH il I T g AT A,

3. Tl Sae A faag s sfaadhl adn e waean wafie wee aae g
ey fafag e w0 S S sewa wiedi.

gt I :

(1) = 9l wd

(2) % Qi whd A

(8) | FOT AT UFATAT WE™ 3d ATET

(4) UHE T FOT AT FHog YA HIVE FEUH AT IRIET B[avaTeAl Heg HaTd

De Botton imagines ‘ideal news organisation’ in his new book The News : A User’s
Manual. He expects that this organization exists solely to enrich lives of the
members of society. Select the statement/s that/those does/do not support/s his
imagination about ‘ideal news’.

a.

Political news would paint a sympathetic picture of the social realities of our
nation and encourage action to correct its ‘systematic ills’.

World news would create a detailed, sensory overview of other cultures for
helping us to break the shackles of our ‘globalised provincialism’.

War news would help us to know how our war heroes struggle to keep us safe
from our enemies so that we can celebrate their sacrifice and killing of enemies.

Crime reporting would highlight chronic human folly and the need to both
understand and control our emotional impulses.

Answer options :
(1) Allbute

(2)
(3
(4)

None but ¢
All as they don’t give any importance to nationalism
None as all of them are helping us to widen our perspectives as human beings

T PIATHIS! SIRT / SPACE FOR ROUGH WORK
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A
86. faer - #.,  wd =i o e,
4. S T ge .
W, §d 9o9 Blegd Imed.
frd: 1. d osd W R,
11, = wm e e,
g yate fae
(1) Freed 18 3
(2) Prend 1199
3) frswd 19 11, 8 wca amRa
(4 frsnd 19 11, 38 s e
Statements: a.  All switches are plugs.
b. Some plugs are bulbs.
] c.  All bulbs are holders.
Conclusions : 1. All holders are plugs.
II. Some plugs are switches.
Find the correct alternatives :
(1) Conclusion I is true
(2) Conclusion II is true
(3) Conclusions I and II, both are true
(4) Conclusions I and IT, both are untrue
87. U faum werh qued oft onfdd, S w9 oft aniie } Ao, wE-Ters M Igor AR

TR A T A7 6 6 37 e, Wrefiedeh! faam a1 framsia & .
I Y-S Uil Ush Jorm o df data HHl Haradl.

II. mue oW gHiogea afeuitefl sreier o anfor at =neres dan sifis Famadl.
TE—TA% HI0 378 ?

(1) enfea (2) wio

(3) amg (4) orfed fiar sty

In a certain flight crew, the positions of the pilot, copilot and flight engineer are held
by Mr. Aadit, Mr. Dhananjay and Mr. Amogh, though not necessarily in that order
given. The following statements are true for all the three :

I.  The copilot is an only child and earns the least.

II. Amogh is married to Dhananjay’s sister and earns more than the pilot.
Who is the copilot ? '

(1) Aadit . (2) Dhananjay

(3) Amogh : (4) Either Aadit or Amogh

YT BHEIWIST AR / SPACE FOR ROUGH WORK P.T.O.
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88. TH el TR 10 P 3 wvETERiET T 160 20, e yife wid fifved @ wie
ITed. Th T Al 16 fFdl ofer wmvarsin T 276 3 o el S wrerE Wb
wig fifvem goen qore = st
@ IR wfa fopamdier 2t feet amg 7
(1) T10
(2) <13
3 T11
(4 T 17
A man paid T 160 while travelling 10 km in a taxi which has some initial fixed
charges. Another man paid ¥ 276 for travelling 16 km and the taxi driver charged
double of the initial fixed charges from him.

Then the charges of the taxi per km are
(1) T 10
2y ¥13
3y <11
4) T17

89. dfsT Ww™ Y UISW GOl SARA] S TR, @ A dfgerd 99 UTEST g
T faure Bia. SR A §F TS 99Td 15 a8 3t 3R, W aiears e 99 fhd 2
(1) 1109% (2) 7098 (3) 60 (4) 509
The present age of the father is twice that of the elder son. Ten years hence, the age
of the father will be three times that of the younger son. If the difference in the ages
of the two sons is 15 years, the present age of the father is
(1) 110 years {2) 70 years (3) 60 years (4) 50 years

90. FAA 40% faeneath nfmmEt snfor 70% e TR Aieae Ea. W 16% Rreneath

it & Wie 1 T AT Aigaeien s T, aE it Rt T T e
o=t ewbamt) Fae.

(1) 5 (2) 15 3 0 (4 25

In a class, 40% of the students enrolled for Maths and 70% enrolled for Geography. If

15% of the students enrolled for both Maths and Geography, choose the percentage
of the students of the class which did not enrol for either of the two subjects.

(1) & (2) 15 3 0 4) 25
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91. WERIYIHY TlwE@I OaT HEUaH il WIeiel HaraT arat Harl Il :

. Wm@ﬁm_wﬁ =

v o) s v (s ) - — TR g ey

TGRS TRy &es (<. feft)

NP _ Forwm wwm &aws (=)
= Rk = TR TR fres (0. o)
it I
(1) 3 TR
(2) ¥ TN
(3) ATS TR
(4) F M
Calculating the density of population in Maharashtra using the following formula :

Population of Maharashtra

. Population density of Mah htra =
a opulation density o arasnira Total Population of Districts

b. Population density of Maharashtra (sq. km)

- Total Population of Maharashtra
Total area of Maharashtra (sq. km)

Total District area (sq. km)
Total area of Maharashtra (sq. km)

c.  Population density of Maharashtra =

Answer options :

(1) ais correct

(2) bis correct

(3) aand b are correct
(4) cis correct

UL HEST W | SPACE FOR ROUGH WORK P.T.O.

AT e S 1 e i L



L13 46 A

92. @i i g fum s 2
o, glgaaran Uy AT AW T69 § SfaHE drere R 98,
T O AT o1 gfgdaran Qe e g '

F.  Ffgaaron wEE AT SeE a8 aiem g
€. gigadaren Tyaauy smwE dumn e e sfre T At

Wi'd’l??ﬁ:
(1) wad 3 (2) 998
(3) BHH (4) aheddl gt I

Which of the following statements is incorrect ?

a. Intellectual migration leads to increase in young and talented people in the
arrival region.

b. Intellectual people benefit the arrival region.

(2]

Migration of intellectual people badly affects the arrival region.

d. Migration of intellectual people results in fast economic development of the
arrival region.

Answer options :

(1) Onlya - (2) bandd

(3) Onlyec (4) None of the above

93. HedTg Ydare! ATy st fhd i, ame 2 .
(1) 420 (2) 440 (3) 470 (4) 520

What is the length (km) of Sahyadri Mountains of Maharashtra ?
(1) 420 (2) 440 (3) 470 (4) 520

94, SIS YSNAT INT T SfHORY RN RO AgAT G SR ?

(1) et 7 i (2) e & andt

(3) USEMT F HESMI (4) &wim 3 ¥

Which river basins lie to the north and south of the Balaghat Plateau ?

(1) Godavari and Bhima (2) Narmada and Tapi

(3) Panchganga and Ghatprabha (4) Wainganga and Penganga
95. s frgt wgrrgre soren fegm oM ?

(1) 1w (2) SRt (8) TGN 4 92

The Astambha peak is in which district of Maharashtra ?

(1) Nashik (2) Amaravati (3) Nandurbar (4) Dhule

T HTHTHTS! SR / SPACE FOR ROUGH WORK
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96, Wi TR ? d@dm gudem yivwnig e s (Feft) o 2
(1) 172 fwdt (2) 174 f&ft (3) 176wt 4) 178 fedt
What is the distance (km) from the ‘Bombay High’ oilfield to the western side of

Mumbai ?
(1) 172km (2) 174km (3) 176 km (4) 178 km
97. el e Rrear IR rE defia s s (S fef) I s g
A g | TR &, i |
€. IWUad! 3. a4
Tty Iu
1 23%9% A 2 #,9,%,%,%
(3) 4,8 %3 4) %,%7% 93
Arrange the following districts as per the availability of forested area (sq. km) in
descending order.

a. Chandrapur b. Gadchiroli c. Gondia
d. Amaravati e. Wardha
Answer options:

(1) d,e,b,c,a (2) a.bc,de
@) b,a,d,ce (4) c,d,e,b a

98. 2011 =T SNHIAN AhEErea Sudd HERprET M R suie qumE ? .
(1) dfeen (2 g (3 fem (4) < SEA
What is the rank: of Maharashtra in population in India, according to 2011 census ?
(1) First (2) Second (8) Third (4) Fourth

99, aTelierieh) WEREIeY RURMISHAT BT G TS Wil IR Tl W 7 k
A 9.  Hedidt %. faft 8. A
i el %, Ut
o I .
(1) as (2) ®4% (3 39% (4) H9SE

Which of the following are the two highest spoken languages by the people after
Marathi language in Maharashtra ?

a. Tamil b. Malayalam ¢. Sindhi d. Kannad

e. Bengali f.  Punjabi

Answer options :

(1) aandb (2) candd (3) eandf (4) aandd
100. EAiertsht SIvdl F8 Tierades IeaT AEt 99l R 7

(1) ¥~ (2) fire (3) g (4) "=l

Which of the following rivers is the right bank tributary of Godavari ?

(1) Manjira (2) Shivana (3) Dudhana (4) Sabari

TeedT HHTHIS! ST / SPACE FOR ROUGH WORK P.T.O.
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(8) weIgfene fafga Inicar fafime wrfe += *m (W6 ah) F. nEgRrefian swfFe a1 W
FIGER = FIF HeATd J HId HOITA IR el A, 3 T IS § ER INGEE WEH
S Ferem whamed o fwrE oeu woaEEed wfutem-82" It wedgeR wwar
FOIE IS T Nt Il A U i FREEET sl fhar T U gen e dere figw
99 B,

(9) FX IRIFHEE AT fafgr S I TR INGTREA & SAY AR AT FThETat

AH AW Y@ IR, W wierEmsrad soargdt WeERe ourat IwaiEEr w1
AR greRE A faatET wa S SEvaE g,

5. 5. 201,

T. . 201.

e e
Al ST T HOATETS Hu) erd: TS b 2
(1) Tl gEEg wEd (2) wvatEg faemamm
(3) W UHHIRA TG (4) TIGTGEHS TG
T ETE A I () TN TwHiEd T 3T o, W@ W g T ey ade
A QA Y99 . 201 e Sutsaiw Q) § ade it Swifr w
0 EES AL,

© @ 0 O

AW g WA THEhdle % SISl qAd] SR-hA & TR waaade] Raeer
IR o 1 YTERREREEA Fafvd ade Ue0 SHied S qrEaTEl. g
W WISAT VTSR AeTds JTovE, Y 971 e 9 9TaE .
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